CPMC-540

M.Com. (Previous) Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - I

(Management Accounting and Financial Control)

[ Maximum Marks : 100

Time - 3 Hours |
Section-A (Marks : 2 X 10 = 20)
Note —  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(Tue-37) (3 : 2 x 10 = 20)
qrz - |l TW 9 & I i (SW-EH 50 v | YEIF WYA 2 3F H €
Section-B (Marks : 8 x 5 = 40)
Note — Answer any five questions out of seven (Answer limit 260 words). Each
question carries 8 marks.
(FUE-=) (3 : 8 x 5 = 40)
Sz - mE A e o g ® IW A (ST-TE 200 TR) | WS YA 8 3
cal 4
Section-C (Marks : 20 x 2 = 40)
Note — Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@vs-) (31 : 20 x 2 = 40)
e - A H A e uw & I A (SW-HE 500 v | YR T 20 3

T
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Section-A ) Section-B
(@ug-3) (@us-=)
2 Discuss the meaning and scope of Management Accounting.

w What 15 responsibility accountng ?

SR SEEE s R 0 T TEET T o9g wd 49 =
{1} What 15 Aad-Test Rano ? Give its ideal value 3 What s fund flow statement * How does it differ from the Cash Flow Statement ?

Rank the following investment in order of their profitability according to average

b

{11} When does flow of funds take place ?
rate of return method

FE S TIE ss A &

(iv)  What s meant by Cash equivalents ? TR S T ¥ ST g W UG A 3 FEEEA ST FEEs
TEE T X wn oswE E
Projects A B C D E
{¥)  What 1s meant by Capial Structure ?
L o Imual Outlay ) 25.000 3,000 12,000 20,000 40,000
nf?: TET ¥ OF OV 2
5 Annual Cash Flow (¥)  3.000 1.000 2,000 4,000 8,000
“{vi)  Whar s Operanng Cvcle Penod °
Life in Years 10 5 8 10 12

S wE ety s
3 From the following informauon, vou are required to estimate the working
{vui  Name the discounted Cash flow methods of capual budgenng
capital required
swET TFET war v o oem owr
FEtAtER g9 T AR @EvaE FavE e FEE AR
N

(vii) What 1s the cost of retained earmings
Cost Per Unit (3)

whawfa aFF &7 v = ¥

Raw Matenal 200
() What 1s meant by Financial Forecasung 7
Direct Labour 100
fawn prIwE & s wva
Overhead (excluding depreciation) 250
(x}  Ghve formula for shutdown pomnt %50

Total Cost

BRI-361 « 3 ) CPMC-540 PTC
RI-361 (2 ) CPMC-540
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Estimated data for the forthcomng period aie given helow
A et stafy o srparfaa s A9 fe e
Raw Matenal in Stock Average 6 weeks

Workan-progress (assume 50% completion stage with 100%

material consumption) Average 2 weeks
Fimshed Goods i stock Average 4 weeks
Credit allowed by suppliers Average 4 weeks
Credit altowed to Debrons Average 6 weeks
Cash at Bank expected 1o be T 75,000
Selhng Price T 800 per unit
Qutput 52,000 units per annum

Assume that production 1s sustained at an even pace during 52 weeks of the year.
All sales are on credit basis

52 waE H IWEA BOA U4 4 S e ¥ wepl faw emoamn v
Calculate the trend values by the method of least squares from the data given
below and estumate the sales for the year 2023

4 fad w1 weH F A i faf g wgfa gel B OTOET F A A A9 2023 F
feo fawa sm wfm .

Year 2014 2015 2016 2017 2018

Sales of TV (in '000s) 12 18 20 23 27

BRI-361 (4 ) CPMC-540

A company has obtaned capital from the following sources, the specific costs are
also noted down against them

TF FEA A weE g g gra 37 % faeel A A Tk wm A A o 5

Source of Capital [ Book Value (T) lMarket value (3) | Cost of Capual
Debentures 4,00,000 3,80.000 5%
Preference shares 1.00.000 1,10,000 ‘ 8%
Equity shares 6,00,000 12,00,000 l 13%
Retained Earnings 2,00,000 — J" 9%

You are required to calculate weighted average cost of capital using

(1) Book value weights and

(1)  Market value weights.

M9 — (i) THh Fed Wi, A9 (ii) T G WE F FE0 FE U SAEFA A fa o
FT T FC

Sujata Limited has a share capital of ¥ 20 lakh dividend into 40,000 equity shares
of ¥ 50 each. The company can raise additional funds of ¥ 10 Lakh for
expansion either by issuing all equity shares or all 9% debentures. The company's
present earnings before interest and taxes are ¥ 2,80,000. Rate of mcome tax is
50% Calculate the point of indifference.

T frfirrs #1 {5 3 20 @ ¥ S ISE T 50 F T 40,000 wEar 90§ Al &
o & form w9t 3 10 =@ F A 7 @ @ gl gwen s gE @ S 9%
FOS g U HT FwA &) TS A FGFH F 7d q@w afew 7= (EBIT)

72,80,000 %1 s &1 T 50% ¥ T feufa § qzey fag wm G 2

BRI-361 (5 ) CPMC-540 PTO.
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W statement by

TFEE = @ s w3 oan = e g e

j
i
?3

Cnucally ex va
t ¥ examine the vancus methods of evaluancn of capital budgening

proposals. Discuss their advantages and disadvantages

T _mimwmﬁﬁwﬂm = F I [esc et

T TR % i
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[ Total No. of Printed Pages :

Total No. of Questions : 12]

CPMC-541
M.Com. (Previous) Examination, 2023
ACCOUNTANCY AND BUSINESS STATISTICS

Paper - 1I
(Research Methodology and Statistical Techniques)

[ Maximum Marks :

Time : 3 Hours |

-4

100

(Marks : 2 x 10 = 20)

Section—A
Note —  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@us-37) 31 : 2 x 10 = 20)
Sz meft Tw T B S AR (SW-FE 50 ) | TOHE WY 2 S h T
Section-B (Marks : 8 x 5 = 40)
Note — Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(@ue-=) (31® : 8 x 5 = 40)
Sz~  Td d @ el aie weEl ® IW AT (SW-EE 200 TR) | WS G 8 31
cald
Section-C (Marks : 20 x 2 = 40)
Note —  Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
| (Tuz-m) (31 : 20 x 2 = 40)
Fz o AR d A e g g & ST SIS (SW-H 500 W) | WEF 9T 20 S{F F

7l

BRI-585 ( 1) CPMC-541
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Section-A 3. The profits for dlfferem years of hfe msurance company are given below :
(=239 TE A FIA % fafa= wd % o 3 23 oW E .
oo What do you mean by Research ? Year 1995 2000 2005 2010
g o R Profits (in 2 000)  30.06 39.12 42 81 47.38
Gi)  What is primary data ? Calculate the expected profit for the year 2001.
. ) ZOOI?ﬁ%hn_mﬁawqmmﬁv?.,x
TARTE WEE w7 - o
4. The first four moments of a frequency distribution about the mean are 0, 8.76,
() What 15 Interpolavion > - 20.69 and 291 173. Calculate the corrected moments if class interval is 3.
AT W A 27 TF A F TR 0 e w0, 8.76, 20,69 TH 291 173 1 A = s
(v} What 1s Kurtosss ? 3% A A v wre
58 393 F 7 5. Two cards are drawn from a pack of 32 cards and thrown away. What is the
- probability of drawing an ace in a single draw from the remaining cards ?
(v) What is analysis of vanance 7 L e = o [ N N
) L Szwm@nqawm?wwhm,mwnqmwﬁmam
PTEAT FE F%q 7Y T TFR AT F PN wirE A o
vy What do you mean by Normal Distribution 7 6. The following table given the number of automobile accidents and number of
SIS HTS wn ¥ v days for a period of 50 days. Obtain poisson distribution from the given data.
(viij  What do you understand by association of attributes ? Pt it & v w50t 5 2 A AEEAEA T # T §
o Tlmmﬂn’*lﬁvvnwn'aﬁq*anwa‘rﬁm
T RS T qry e auma ¥
No. of Accidents TS F Hem) 0 1 2 3 4
{viil) What do you understand by the cxpectation of a random vanable ? P
i What do you u P No. of Days (75 =1 5w 218 7 3
TH MR, WY R WAION A AT Fn wuma §oo _
L L - 7. Explain the difference between sampling and non- sampling errors.
() Diefine a based sample

?Hmﬂmmﬁw faum | a—-av;-yqq—-m-;

8. Calculate Yule's coefficient of

A gyt F wfuam S

Association between Marnage and fatlure of
students from the following data pertaming to 325 students.

525 Taanfdi | weafsm f=tafas AR F AE W e | AREAA F

(xj  What do you understand by Frest

Funtam % g #n moogs §

. A A F WEAR TUFE FA
Sestioneh Passed Failed Total
(g ) i st .
Wiite 4 now on “Preparation of Re<earch Report™. fafEa (Married) 90 85 155
PO frivd w1 A Sy § afFtEE (Unmarned) 260 110 370
3RI-585 (2 CPMC-541 BRI-585 ( 3 ) CPMC-541




Section €
(g W)
Descnibe the technique ot analysis of vanance for a two-way classification by

taking suntable example
o urft gneo fawdam 4w ® TR ETRITE BN AT

5y

Do the tollowing data provide evidence of the ettectiveness of inoculation

Bt wua A ) g aeia ®

Attacked Not attacked Total
Tar A (Inoculated) } 7 10
T A0 A (Not imoculated) S 5 1)
M (Total) 8 T T
I degree of freedom t,m 3.84
| wea wfe & feo ¢ = 3.84

Calculate v and discuss results.
ot ek gf vd afomet @ e #1

['wo sales representatives are working 1n the same district. Data pertaining to
their sales are as under

a faga it A ud B fadi v fore 3 &6 #8118 & e faen 0 aateE T

fq g @

Salesman A Salesman B
Number of Sales 18 20
Average sales T 210 T 175
Standard Deviation T 25 T 20

On the basis of above information test the hypothesis the difference between the
two sales 1s significant ?

S A W SR T A St i e S st g T e
AR 2

Extrapolate the cost of Living Index for 2014 from the following data :

e aial #) Al G0 2014 F fa e frafe fawiE w1 F

i (Year) 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014

~ r . e
Siraa faare fademes

(Cost of Living Index) 328 | 378 | 471 | 478 434 | 451 ’

e

BRI-585 (4 ) CPMC-541
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CPMC-542

M.Com. (Previous) Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

'/"nm

Paper - 11

(Higher Accounting)
[ Maximum Marks 100

3 Hours |

Note -

Note -

Note -

Section-A (Marks : 2 x 10 = 20)

Answer all ren questions (Answer limit 50 words). Each question carries

2 marks.
(U3 (3 : 2 x 10 = 20)
it Tw T F Iw AR (SW-EE 50 vR) | U W 2 9 H T

Section-B (Marks : 8 x 5 = 40)
Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(@Us-9) (FF : 8 x 5 = 40)
nmﬁﬁflmﬁu?awﬁia%waﬁww—mmow)lmmsm
EalA

Section-C (Marks : 20 x 2 = 40)
Answer any rwo questions out of four (Answer limit 500 words). Each
question carries 20 marks.

| (@) (3% : 20 x 2 = 40)
a7 H & fF @ gvdl & I aA (3W-HE 500 V) | weE W9 20 F w6

ol

BRI-759 (1) CPMC-542 PTO.



{winy

Seczbon-A
‘TR,
War w memnr by Foll Dwdossee 7
v¢ getwre & wr ovs ¥
Wit 4o yos meze 7y Agodtwal Fam bocoseerng
oty wnd vwpws 4 o ovm wmpr b
Wiae w FEcowmm Vilue Adbded
ok wen v o b
What = Carry Frowerd f Trarsacuoes *
e v g v wy 4 owr mern ¥
What s Capual Reducton Accoset ?
¢ okt pm oo ¥
Faglam Pocking of [nterest Method
‘o W cwdwre v wogry
Ahat are the componerts of Comohdated Accounts ”

witgs % w wrw wr ¥

Crrve defintum of Beverue ander Indian Accounting Standard 9

wrRn g waw G % gats gen ¥ frrw AExs

What 1 meant by Belevant Date i Winding up of a Company ~

BOPH g wmera G odtue YAy oo g A b

2 Wext are Moo prrfuammng A

= e e o ¥ O

Diffeventiase brrween Dovsitie |

ey T e v T e E oo T

Asceriam the amouns of maxmrosm b price m respect of 2 parocular szeCITVE
from the followng data
Wﬁf:ﬂhm?:ﬁ?i:ﬁmﬁ??*ﬁ:

Capntal Base ? 2 00060000, Acmal Profits 10% of Capuwal Base Remarn of

Investment (RO 12% Esnmated profits if 2 parucular executive 13 empicyed -

15% of ROL

A company converts s 10,000 Equity Shares of 2 1,000 each mto stock on
2 10006000 of 31st March. 2015 and then reconverss the stock inmveqnizy
shares of 2 100 each fully pad up on 31st March. 2016 Grve Journa! Eentries
and show the items in Balance Sheet as on 31st March, 2015 and 2016

TE FOE 31 w2015 F AT ) 000 T 10,000 wEw w5 B 2 | whr % =i
B it FTh B oA TR 31 9= 2016 W R E 2100 T TEze mmw s 3
T afrataa wra ¥ wEm gfateat 2t aw 31 w2015 3 2016 % i S 55 F



(000 omitted)

b ard A
vl Agsems Bul Se
U 140
Upts e 1
T three Yean »
F ’ 47
More than three Years 10
d Loss Assets 100

required 10 be made by the Bank

z fF A ATEAvEE ¢

-34. The future earnings

There are 300 skilled emplovees in the age group of

> 1 15 SArs
per year per employee average as follows. Average age is oo years

Ty s By w g1 S A S S F A

5-34 % 35 THE § 500 ¥V 5O

T 5.00.000 per year for the nexx .-

? 6.00.000 per ¥ -

3z vy r for the nEX: Il £27F
7, Z F7 599= T 52F =27 T

1w l0 6143
111020 2369
21 10 30 0913

0.352

31w 40
Calculate the value of human assets of this group.
Section-C

(Fvz-7J)

Explain the concept of Income 1n Accounting. How 1s 1t measured ?

FEFA 9 AE ¥ FANIW F FEAEU IEF AT GRR vET w3

X Lid went wnto voluntary Liguidation on Ist Apnil. 2016. The foilowing was the

position of the company on 31st March, 2016



ael e 3

o ETTH W 2 ™ .. 7 L
g Gty | AEA, 2016 F afer¥ 016 %1 e 3 12 Calculate Feonomc Value Added from the following e toomanon of Jepp L
fezfr B= wE A v 2 ¥ fr=tfa s A AfdFE g A w1 e e
Cash on realisation of asscts 2 000,000 Expense of Nquidaton 7 18,000 Debt Capital 13-, .
. o calanies and wapes {or one gy
unsecured creditors (inclucing honth prior to Equuty Capiral 700 Grares
! 0% preference <hare
p ) (2 000y € 136,000, 100 i tares of T30 each
Bauidation € 1255 ° Reserve and Surplus ? 7500 crores
(dividend paid up o 31t March, 2015) T 3.00.000,20 000 Equity Shares of T 10
. Capital Employed -
cach 29 per share catled up and paud up T LBO000, general reserve T 2,40,000
y Risk Free Rate ' s
N
and profit and loss statement € 20,000
- : Beta Factor L
Under the articles of associanon of the company The preference shareholders
Market Rate of R
have the nght to reccive one-third of the surplus remamning after repaying the € eturn
equity share capital Prepare the hquidator's final statement of Account. The Equity (Market) Risk Premium 2 2100 crores
liquidator 1s entitled to 3% on realisation of assets and 2% on distribution to Net Operating Profit after Tax
sharcholders Tax Rate .
WA FA FOATER F AR A S TR % A A B oAt
fam =AEu frear® ¥ oIt = 3%, e gwfd w1 fawm W
2% ThsfaF wra F4 7 Shawe ¥
v 7 F N ’C
How can the share capital of a company he zlhered or reduced 7 What principles
‘ scheme ?
should be allowed in formulating 2 rus znd eguizble reconsiu tion scheme
R Y - . us, Afwa s
TE FEE H AW H§ v w e e g a0 0 AR 8 g
T A A A S s s 5 s oy AW
- CPMC-542
BRI-759 (s BRI-759 ( 7 ) o



Total No. of Questions : 12 ] [ Total No. of Printed Pages : 8

CPMC-543

M.Com. (Previous) Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - IV
(Cost Accounting and Cost Control)

Time : 3 Hours | [ Maximum Marks : 100

Note -

Note -

e -

BRI-903

Section-A - (Marks : 2 x 10 = 20)
Answer all ten questions (Answer limit 50 words). Each question carries

2 marks.

(TUE-31) (3( : 2 x 10 = 20)
gt @ YvHl & I WU (SW-TH 50 IK) | TIAF G 2 F H ¥
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each

question carries 8 marks.
(GUe-9) (37® : 8 x 5 = 40)

arE § 4§ fEe ute g @ IW SN (SW-HE 200 V) | gl S 8 3
H T
Section-C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each

question carries 20 marks.
(ws-H) (31 : 20 x 2 = 40)

wﬁﬁﬁ%ﬁa‘rqﬁémm(w“mmow)lWmmzomzﬂ

2l
(1) CPMC-543  PTO



Section—A Section-B

HqUE-A)
JgeE an ( ’
2 Ihe following mnform

aton relates to a truck of 5 tonnes capacity
Saanding Chamges”

Spenanng costing »
R lFratertia ey oy T A A zw g mmter o

v R = Cost of truck
see Wy R \ S
u What s mea ’ Fstimated life
maR T 8
o Insurance T 4800 per year
) What do ¥ LA v Road tax T 2,400 per year
> &5 E
¢ - ) Cleaner's wages ¥ 230 per month
r W) What do vou LY rERIIon money Driver's wages T 500 per month
Supervision % 4800 per annum
Guve form of o TR Repairs and maintenance % 500 per month
T OEe ERT ¥ 7 W Diesel, oil etc T 18 per rip each way
¥ One round per day 1s of 60 km each way. Capacity unlised 100% for ourward
WEIT TEST § FT T OTET §I round and 20% on return round Average operanon 25 days mn a month
v} What s meant by break-even pomnt sfifeq v wF uw W w60 fE B TR T 8 100 ThEvE www s TvEm
e ww S o g ¥ s A W § 20 wfe HEA F I A ¥ oo § sheww 25 &8 T wwa
TR-TF= ¢ T I FEITE F
T
() Give the meanmg of mansfer prnice
You are required to find
. 5 (@)  Operating cost per tonne km.
(X} Give journal enay 4n cost hooks for ‘recovery of factory overhead’ under .
non-integral system of 2ccountin (®  Rate per tonne per round to be charged as to eamn a profit of 50%
non-integral svstem of accoundng
I 5 e SRS § wiahe HYH A FF
R-worsios o 5% § wwge i 1 oSEEl W 9@ sE e 3 W
ey (31) wfg =3 e afeeA o
7
3 ing R o Tl fon o o R w S0 = s A
) What s the uality of mtegrated accounting ’ (@ ¥ = ufa

TEET dEEE T o s g 7 BRI-903 ( 3
BRI-903 (2 ) CPMC-543

CPMC-543 rTO.



BRI-903

Conta Sons obtained a contract (o Construct a house for ¥ 16,00,000 It 1
estimated that the conwract will be completed i fifteen months The work
commenced on Ist April, 2021 and details of expenditure upto 31st March, 2022
are as under .

=1 5 3 v e et @ 0 2 16,00,000 3 I wmm 2 B w15 T

&g A e w1 s, 2021 F IO EA AW 315, 2022 7% % w

frefafam % -
®)

Matenals and stores 3,74,000
Matenals unused 22,000
Establishment expenses 1,08,000
Wages paid 5,40,000
Hire of the plant 40,000
Other expenses 80,000
Work certified 12,00,000
Uncertified work (cost) 40,000

90% of the work certified was received in cash. It is further estimated that the
following additional expenses will be required to complete the work. Prepare
contract account taking credit for a reasonable profit :

wfor W F90% Fe wa A T qE R S e T e At e
4 freffen it =3 fro sm sfaa o &1 #fee H0 0 S G AT ;

(4 ) ~ CPMC-543

2
Materials 50 000
Wages 40,600
Sub-contract cost 1 0 006
Hire of the plant 20,400
Establishment expenses 23 600
Provision for contingencies 5% of otal cost

Calculate matenal vaniances from the following details available for a particular

period
wh 4o sl 5 wafam frafafae faei @ g el @1 ShEes s
Standard for 1 mix
Material X 40 kg @ 2 6
Material Y 60 kg @ ¥ 4
Process Loss 20%
Actual for 10 mixes
Material X 600 kg @ ¥ 4
Material Y 400 kg @ T 6
Process Loss 30%

What points should be taken into consideration prior determining transfer

price ? Explain in detail.

T g i | qd - A w fEm fe s w0 o @

RIS |

BRI-903 (5 ) CPMC-543

PT



\stem of accounting 7 Give s charactenisties

¢ o ¥ favead @Emn

| s
What 15 meant by non-ntcgra

P————— R

by performanct budgeting 7 DISCUss 1ts merits and mitations
What do you mean by <

There are 2000 units in process and the stage of completon 1s esumated to be

zmmg;v:u!qmiﬁaﬁv‘mﬁrﬁxmqvig‘faﬁfwfaﬁfnamé:

e B B Materal 100%
fqmgrn wwzd B o9 W AEAR S N
menits and demerits Labour 50%
Detine Marginal Cosung Give 18 »
o 5 . > Overheads 50%
x5 2 T T i A
s TETTE W . i
- ROOD umits are transferred to next process The process costs for the period are
Section-C )
R000 %59 o7 H wiEw | wmmarfry w1 oA Aty % fem afEm Amm s 4
(FUE-T) .
T
) diwing details, prepare statement of equivalent production and N
G From the foliowng detatls, prep Materal 1,00.000
3 alue of
st of cost and find the valu ) .
tatement ot COst Labour 'E’OOU
( 1 transferred, and )
ol ki Overheads 39,000

¥ Clasmg work imn-progress, by FIFO method

10 Define budget and budgetary control. Explain the advantages of budgetary
o B prs %1 fgmrm om =wrx w1 farm AYam wfam
rrfeufgn faaron B qre oI ¥ control 1n a4 manufacturing organisation
peamanfin wmem s TNz A AR T w7 shurw Sy vE SGun dnss § wwzd wmm $ oema
™) atos; we wod # wem w9 wwm swa gy fafay fafy 8 oam o ETaw #1 fam o mmgm
Operung work an progress 2000 unuts. The cost are Il A company produces a single product and sold it at T 200 each. The vanable cost

veoa® wn wd 2000 pery B e

of the product 15 ¥ 120 per unit and fixed costs for the year 1s T 96,000, Calculate

k4 (1) P/V Rano
7500 (1) Sales at break-even point
Matersa LY mpieie
T 000 (1) Sales unus required 10 earn 4 target net profit of ¢ 120000
§ abou eir o
1 500 (v} Sales unus required 1o earn a 1arget net profit of T 1.00.000 after mcome
Perheads (%, compiese ’
R000 fax. assunung inCome ax rate to be 509
ROOK
wniroduoed wie the process
iv)  Profit at sales of T 700000
- , CPMC-543
BRI-903 PR

BRI-903 {7 ) CPMC-543 ¢Ta



@mmgﬁﬂwmm?zmgﬁfﬁ@ﬁm@mm%‘m

A a3 lzommﬁmmz%,ooo%nqﬁmmz

(i) ~ CIH-HE U

(i) wm-fo=sg fashd

(i) % 120,000 % wifem @ e oW FA TG v fh F e

(iv) STt #1 g 50% A €L, st & 9 % 1,00,000 1 oiferd grg wnw sAfem
FO ¥q oEvas fawl Fi eredl

) 2 7,00,000 FF faml T e A AN

Enumerate the various factors which causes difference in results as shown by cost
and financial accounts. Also prepare an imaginary reconciliation statement in

support of your answer.

7 fafis SRl 1 Seor@ FHifau A @rTd orel aon fawa orel & aftorE § A
S S S| ST SR $ TEYH § UH Heqtds FHEE faere-us o T@ St




Total No. of Questions @ 12 ] [ Total No. of Printed Pages : 8

CFMC-480
M.Com. (Final) ABST Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - V

~(Direct and Indirect Taxes)

Time . 3 Hours | [ Maximum Marks : 100
Section—-A - (Marks : 2 x 10 = 20)
Note -~  Answer all ten questions (Answer limit 50 words). Each question carries

Note -

e -

2 marks.
(@ue-37) (3T : 2 x 10 = 20)

gt g9 U & IW AN (SW-HH 50 IR) | THF Y 2 3{F I

Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(@us-a) (37% : 8 x 5 = 40)
a[ H @ fA ure v % SW S (S| 200 v | y@E wed § o
cald

Section-C (Marks : 20 x 2 = 40)
Answer any fwo questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(Tus-w) (3 : 20 x 2 = 40)
wR A | R el & I SIS (S 500 ve) | W WE 20 7 @5
4

BRI-356 (1 ) CFMC-480 rTn



Section—A :
(@ug-30)

()  What do you mean by Domestic Company ?

mmawma?

s an assessee to file rewrm of Income ?

(i) When ha
@mﬁmwmﬁﬂf@ﬁmﬁm% 2

(iii) On which incomes a ‘Non-resident’ is liable to pay Income Tax ?
'm'ma@mﬁaﬁﬂﬁ% ?

(iv) Explain deductions allowable in the computation of Total Income of

. o
Co-operative Socienes

@amﬁqﬁﬁﬁaﬁmaﬁmmmaaﬁmmﬁaﬁ

AR |

(v) What do you mean by ‘Inward Supply’ under Section 2(67) of the CGST

Act? §
%ﬂaaﬁ@ﬁamwz(m)ﬁézﬁh s ST & A A E
(vi) What do you mean by Continuous Supply of Goods ?
(vii) State any four goods exempted under CGST Act, 2017.

S o T WX FH F
ﬁ'zaﬁ:arza'?aﬁﬁﬂmr%ﬁﬁﬁﬁ

ERiELE

- el
(viii) What is meant by Reverse Charge ’

Srfm g S E IR R )

CFMC-480

(i) On what type of supply IGST is levied ?
fre o 3 ot @ g aw v A TR o
(x)  What do you mean by Intra-state Supply ?
T F T F s s e wme E 0
Section-B
(@us-—=)
2. What is meant by ‘Best Judgement Assessment’ ? Under what circumstances can

recource be had to this method of assessment ?

“wt fofa w2 i’ & s e & 2 0 ko 1 58 TS0 9 6 ot

H HTE S OEA E 2

3. The particulars of Indian income of a non»resident individual for the previous

year ended 31st March, 2022 are as under - Q)
(1) Salary Received 2.40,000
(i)  Taxable Income from House Property 42,000
(1i1)  Short-term Capital Gains 10,000
(iv) Long-term Capital Gains in respect of Land and Building 60,000
(v) Long-term capital loss in respect of Share and Securiries 10,000
(vi) Y% Share of Profit from Firm 40,000
(vii) Interest on Capital from Firm :4,3@0
(vii)) Causal Income 13,000

He paid life-insurance premium ¥ 14,000 on a policy taken on his own life and

donated a sum of ¥ 30,000 to an approved institution. Compute his fotal mcome.

BRI-356 ( 3) CFMC-480 ®70




2

st 2022 9 e A1 md A Al v sifaand eafa e WA sne w faerm
fo 2.

)
() Aad ara faaw 2,40,000

(i) wa wata @ s 42,000
(i) seuwERa §a am 10,000

(V) 8 v @ waen § e I o

60,000
(v)  3m§ ufoged @ wdn d Shiweta fei wifa

10,000
(vi)  wE R s w  am 40,000
vi) wH Q wr st @ s 24,000
(Vi) aefEms sm 13,000

I N AT WS T e OfeE W 14,000 S s gy @ TJHFE T3
ST Wenal 2 30,000 ¥ wR fem ¥y IEE @ s e i

From the following figures relaning to the details of income of a co-operative
society. you are required o find out its tax liability for the assessment year

2022-23 :

Q)
(1 Taxable Income from House Property 40,000
(1) Profits from other Business 90,000
() Profits from Corage Industry 50,000

Total Income 1,80,000

The society has given a donation of 2 10,000 to the State Government for Family
Planning Programme

T WEFT WER F 9 ¥ fravw @ ey § R o ed § s s fui g
2022-23 % o =H = =S S -

®)
(1) TEE W R ¥ dvmoamm 40,000
(1)  F= o=mmEE o3 oeEw 90,000
() IEF wmE S =y 50,000
= I 1,80,000
FER R T S wvim 3 e o e # 210,000 F A o ¥
BRI-356 (4 ) CFMC-480

5 Compute the Input

motor-cycle, in respect of the following services availed by it in the month

April, 2022

e fafaee st s anfEe % fmiam 3w o gm oA 2022 § o

Tax Credit available with Maruti Lid., manufacturer

fretferfan st % w6 § 39em1 Tz @7 s F T wEw
S.No. Service Billed Input Tax
Paid (%)
1) Sales promotion services 45,000
() Accounting and auditing services 25,000
(1) Health insurance services for employees 36,000
(1v)  Markert research services 27.000
(v) Hotel accommodaton and conveyance facility to
employees on vaction 6,000
(vi)  Quality control services 38,000
6. Informaunon regarding input and output supply of a trader are as follows
@Wﬁmt{émiﬁﬁwﬁﬂmﬁ%:
® ]
Inward Supply 31,000 | Interstate GST @ 12% I
Ourtward Supply 20,000 | Interstare GST @ 12% ’
Outward Supply 20,000 | Within the State GST @ 12% :
Inward Supply 3,000 | Within the State GST @ 12% E

Find Tax Liability. Under the

prescribed rules, input tax credir should be unlised

in such way so that amount payable in cash remain minimum

WWWWIWWWWWﬁWWH?WEFWW

& 7z wmEm & 9= e o A w6
BRI-356 (5

CFMC-480 rpTO



Who are the persons not eligible 10 Opt for Composition Scheme 7

~

3 #R wfem 5 % wogdm A #1 AT F Ao aF g o
8  Write note on the following according to IGST Act, 2017
(1) Inter-state Supply of Goods and Services

(i) Inma-state Supply of Goods and Services

wEE aE v e w0 Afafd, 2017 F AR fEfaten o frafrt fafem
() ue A TErs # s g
(i) W= a FE # oo F AW O
Section—-C
(@Us-H)
9 Bharat Mills Limited 1s a domestic company in which the public are substantially

mterested. The following are the particulars of its income in respect of the

previous year 2021-22 : ®)
(1) Interest on Govt. Securities 1,05,000
(1)  Income from Business 33,00,000
(1) Short-term Capital Gains 20,000
(iv) Long-term Capital Gains 30,000
(v)  Dividend (gross) from an Indian Company 15,000
(vi) Dividend from a Foreign Company 10,000

1,07,00,000

(v1) Book profit U/S 115-]JB
Compute company’s total income and its net tax liability. Total turnover of the

company during the previous year 2019-20 was more than Z 4,00 crore

3RI-356 (6 ) CFMC-480

A foen fAfarz o5 s v S ww T TeE = E L e a3 2021-22 %

a9 TEE 9 w1 famen B % @)
(1) =T gy & o= 1.03.000
(i) =FEE § 97 33,00,000
(ni) FEEFEE IE0 Y 20,000
(iv) e IS oAy 30,000

15,000

(v) UF WA FEAT F A (FEE)

(vi) TUF fagelh F95 3 =mvw 10,000

(vi)) 9 115-JB % @2 o1& =9 1,07,00,000
FEA F KA AT T THF VG FL AT w0 w0 s 2019-20 F weee
F FA AEd T 400 FT F Hhuw e

10.  Who are Representative Assessees ? How are they assessed ? State their rights and
duties.
wfafafa e 14 86 & 7 39w = -fauie 9w 9 2 599 stawn ug oifaa
=1 fafau

I1. PQR Limited, Kota i1s an authorised money changes under FEMA, 1999
During the quarter ending on 30th June, 2022 1t has entered into the following
transactions of supply of money changing :

(1) 500 transactions of conversion of US § into Indian Rupees of T 12,500 per

transaction.
(i1) 200 transactions of conversion of US $ into Indian Rupees of ¥ 2 iakh per
transaction.

(it1) 100 transactions of conversion of US § into Indian Rupees of ¥ 4 lakh per

transaction

BRI-356 «C 7))

CFMC-480 FPTO.
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(V) 100 transactions of conversion of EURO nto Indian Rupees of 7

5 lakh
per transaction.

(V) 20 transactions of conversion of EURO of % 700 lakh per transaction.

(vi) 45 transactions of conversion of EURO into Indian Rupees of 2 500 Jakh
per transaction.

Compute the value of taxable supply and GST payable if PQR Limited opted

for option under Rule 32 (2) (b) of CGST Act, 2017. Applicable GST rate is 18°-

PQR fefirs, wr o, 1999 # TS0 & A0 T I 3 fr sfigm 30 30 ==

2007 ) T F A & AT SR W T T e amim

(i) it <t qfEdd & 500 B, ¥oOF W F 4RED v ofede 5 o
3 12,5001

() sfer e wfada @ 200 W, TOF HC F 9w wwg § fads 5 0

3 2 @@
(ili) A Sior ufEdd & 100 91, Y TR F YRAE ¥9T § wREE F OR
I 4 &re

Gv) 70 oREdd & 100 €1, FOE 9 F 9RAE ¥ F wiE # o 35 s

(v) oftEa slern & g0 # uRadd & 20 9%, YoF R F g § e § y
3 700 <@ |

(vi) T REd @ 45 9%, gOE 9 # WRd v H uRee #9500 e

F-A 9 B 9 T E W 3w Aoum A W e Ak PQR fs  fiw

32 (2) (b) & fomed &1 wam fba & w@ e @ < 18% T

Discuss provisions of IGST Act regarding determimation of place of supph

THIHA 6] T H # i @ o qfd &1 e favifta F a1 QIATA] B S

IS |

CFMC-480
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M.Com. (Final) Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - VI
(Operational Research)
y o [ Maximum Marks : 100

Section-A (Marks : 2 x 10 = 20)

Answer all ten questions (Answer limit 50 words). Fach question carries
2 marks

(FUz-AH) (3% : 2 x 10 = 20)
it BR avdl & 3 A (3R T 50 vist) | AT 9 2 9 R R
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer Iimit 200 words). Each

question carries 8 marks.
(@uez-9) (31 : 8 x 5 = 40)
it T3 T ate weel # I At (3R 200 YR | Wl WY 8 3F
Section-C (Marks : 20 x 2 = 40)
Answer any (wo questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(FIUE-H) (31 : 20 x 2 = 40)
e i A R B guEl & st AT (T HmT 500 W) | WeTsh 9 20 S ¥

578 (1 ) CFMC-481 PTO.



Section A
(WO 30
o CGive defimiton of operation Research.

afaar tam w1 afom gifo

G What s dyvnanic programming maodel
WA wiEm ufgE e b

() What do vou mean by Constraings in hnear programming

aw wmpr ol 8§ a3

v What is principle of simplex method

R fat  frge @

What do vou mean by balanced ransportation problem

AqiEa wRaes e Ao e aEen 8

i What s mixed strategy i game theory ?

B g e e

vi) - What do vou mean by jockeving

FAW T { ¥ e B

(v} What do vou mean by successor Activity ?

FERE F A Fn oA b

g What do vou mean by nme study °

q o oAd 2

Mhat de ve 7
What do vou mean by factor produciivity ?

Section-B
{gug-a)

I et ter
Oy metnx techmque i value analysis 7

TFTT &1

CFMC-481

¢ i
For apnicuitune and dustry the mput €0 it

ntmarnix s fatioan

e fndustry
Apriculonee ) Y

2

Apnculture b

Industry

{7300 and ? 46l croge, th

i . ustry 15 o
11 the final demand for agncalore and mdustry

find the total outpui

Fin w g fEw g el R

i 17

37 o o
e 3 o o

Atz i wd aEm w Al A 7 30037 360 FF FIAL, T

o iIct ¥ e y USING two ma ¢
A manulacturer makes two type of prc duct ’» wnd P ngt M
d A R ” requirc ur & dC €5 Y 4 3 hours at
ne uni (4 ! ) 1 mal hir ooAan
aind yne fp < \;' B
M M,

re -5 4 irs at each of TWo
machine M, Onc uni of Py requires = hours

; e T 80 and T 70 respectively
profit contnbution from each unit of P, and P, arc 80 a
achines 1 nd M are 70 and
and the number of hours available per week on machines M and M,

It €2 A o
f oduct s e manufactured 56
100 respectively How many umits of each product should be

S hematical formulation)
hat the toal profit maximized (Give only mathematical form laton
0 fit ma s

ar P T M, 3 M BT HETE A A AT

ey = T M 3 o EH FA
F fem o5 M‘ 5 | g g goms ML T 5

4 G
e F T T

ouENE AL

a7 TR P,
v o wET: T80 AT T

7y 7% P, A P F

R e
’mﬁv‘:ﬁﬁu?m\?'«i"?w"

e A, AfE FA A A T
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A company har § wake representatives 0 be deprossed m for Cmaes The cabes

representatives difier in thew sales capaates whch s represented m the fallowmng

tabie Which sabes representanve chowld be depuerd 0 whach ary so e

el
sabes can be mavnured 0

! Sales Capacity
Reprewentation | E—— S T
- I n 11 iv
R e i 12 1R}
R2 13 - R 0
4 L 1e 1< 14 )
R " a it 1M i

T W o wm § pgw yhewy § 12 owP Sgpw yhe ' .

ol % fefee mer & g
WY e e P ogh P g ¢ ryrd m ) gmd Swhwes vted & fsw pacn

sor e wrd § 9d wis et tupt whow R Sy ® we

Sales Cagacity
R e . o
PoI 18] I
N . O R N

R ? i © 13
L L L]
L s < 4 .
¥ d %

v Teren ) umd o 2 geew ¥ mateg comm U Sww g cwo Dosd \

TR W Bne Y momwy Mee e w ey

. S g s REFEERY LA X AT
aeel Wy W ad Vet | mase Doems o amey Baam pit f Mty and ophimus

wrmkegs fo e T mgare

TN N ww S 6 e u e s 1 e o4 Semd w0 b @ g

LW T W e 0 P o 0 S Seng i mer b N 5 RN W A M

T ok bm of et d e g e we e O 1 g ety gess
.y e ® oo
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T WpAE 85 dje @ S e WIOR

o M 4

tacality a3 partieay e
\ Rami plans to open singhe «reet Sevve 1 banking facliny at s
meTs ch Hour o oan gt e &7
b = eamared that 32 casto wall armve cach lour o
. tranny oo Lt
potad. o reguRTs | % mutes (0 PHCess A CUALOmET | TN
# W wibe
i) The proportn of me that the syatem with he i
On the averagr bew ooy the cusomee wil) have Towad
(i) ¥
the he server
wadate il
Gt The lenggh of the dnvewdy requtred T 30w
i [
ced foa ma booar that oWl
the average 1 W) Begt of drvee way © required Bt os -
L WTVRT
: P T T
“h"vimncnmqm:mumgr:a anen
[ IS o Rl 2 BESRRERS
e w7 on | wwe g 9 o # e s TEE FOAW G
e b8 @y Fm
t M(-tw:r-rmru’m
i 3
(w) T8 OF% W e wu?
| L e : g U
3 g ey WHE DE S b w ‘et et ‘e £ OF > IEE
T il !

g & B oy w P atre

L Cawen the foflowng wnformation braw hr netweciri
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Section-C
(TFTE-H)
Max 7 = 40x, + o0x

Subject to .

4o+ 120, < 120

-0

g Has 3 AT = i 3
TS ThaE U g @ fAoee fafe § oee wtww .

sTfersAm 7
Z =40y, + olx,

s >

- &
'U’ o
lO \'_w:-., the fol I
Solve the following transportation problem

FEEEA utEEa TEen w9 e FihEn .

"} ve t > "
Solve the {ollowing hinear programming problem by Simplex method
od

Facton Store Supply g
Transportation Cost {
LW XY z i
G 9 12 ) ( ‘ (
2 9 6 ‘ 7 [
R R
( 5 . |
(B poe s o | | 4
Demand 6 4 T I |
Demand 3 6 | 12 L]
| SO S— il
BRI-578
6 CFMC-481

11 A salesman has to visit five cities PO, R, S. T. The travel ume between these
cities 15 shown in the table below
F rr;n\\T:\ A B C D E \
A 7 14 17 13 14
l‘ B 14 - 16 13 i+
\ c 17 i6 - 7 15 \
\ D 13 13 17 - 17 ‘
l E 14 14 15 17 -
wF A wAe E S T A P QR S, TH 7 o w1 T A A |
. B c 0 £
- &1 17 13 14 l
14 - 16 13 14 \'
17 16 - 17 15 (!
13 13 17 7o
E I 14 14 13 17 - l‘
12. Solve the following matrx game
Bl B2 B3 B4 B3
Al 2 2 1 2 3
A2 4 3 4 -2 0
\3 5 1 2 5 6

BRI-578
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